OSWEGO COUNTY BOCES

Bid Award Detail Report

Bid: ICE CREAM 2025

ICE CREAM BID# B25-1201, 7/1/25- 6/30/26

By Vendor/Item

				Unit of				
tem ID	Description	Quantity	Unit Price	Measure	•	Total Bid	Vendor Item ID	
warded								
08193-Hershey	y Creamery Company							
Bid Order Add	dress: (008193)							
Hershey C	reamery Company							
Hershey's								
	neron Street							
Harrisburg,	, PA 17101-2815							
2-00-008A	Reduced Fat Ice Cream Sandwiches, Vanilla, Min. of	67.0000	15.1200	вх		1013.04	31319	
	3.5 oz, 24/box							
2-00-008J	Reduced Fat Ice Cream Sandwiches, Llama Party,	34.0000	15.1200	BX	Sub.	514.08	31357	
	Min. of 3.5 oz, 24/box (Vendor Bid: Reduced Fat Ice							
	Cream Sandwiches, Party Panda, 4oz, 24/box)							
99-15-001	Fruit Bar, Fruit Punch, 2.25 oz, 36/box; This product	38.0000	13.6800	BX		519.84	31000	
	must meet the Requirements of the Healthy,							
	Hunger-Free Kids Act of 2010.							
9-15-004	Fruit Bar, Strawberry, 3 oz, 24/box; This product must	5.0000	33.8400	BX		169.20	31234	
	meet the Requirements of the Healthy, Hunger-Free							
	Kids Act of 2010.							
9-20-003	Frozen Yogurt, Cotton Candy, 3.75 oz, 18/box; This	96.0000	11.7000	BX		1123.20	50245	
	product must meet the Requirements of the Healthy,							
	Hunger-Free Kids Act of 2010.							
9-25-005	Ice Cream, Cup, Low Fat Vanilla, 3 oz, 48/box; This	5.0000	21.1200	BX		105.60	31669	
	product must meet the Requirements of the Healthy,							
	Hunger-Free Kids Act of 2010.							
9-25-020	Ice Cream Cup, Chocolate Sundae, 3 - 4 oz, 48/box;	15.0000	21.1200	BX		316.80	31677	
	This product must meet the Requirements of the							
	Healthy, Hunger-Free Kids Act of 2010.							
9-25-021	Ice Cream Cup, Strawberry Sundae, 3 - 4 oz, 48/box;	10.0000	21.1200	BX		211.20	31676	
	This product must meet the Requirements of the							
0 00 00 1	Healthy, Hunger-Free Kids Act of 2010.	0.0000	0.0005	DY		10.00		
9-28-001	Sherbet Cup, Lemon, 3 - 4 oz, 24/box; This product	2.0000	9.6000	вх		19.20	31480	
	must meet the Requirements of the Healthy,							
	Hunger-Free Kids Act of 2010.	0.0000	0.0000	DV		70.00	04400	
9-28-003	Sherbet Cup, Orange, 3 - 4 oz, 24/box; This product	8.0000	9.6000	вх		76.80	31490	
	must meet the Requirements of the Healthy,							
0.00.005	Hunger-Free Kids Act of 2010.	40,0000	0.0000	DV		450.00	0.1500	
9-28-005	Sherbet Cup, Raspberry, 3 - 4 oz, 24/box; This	16.0000	9.6000	вх		153.60	31500	
	product must meet the Requirements of the Healthy,							
	Hunger-Free Kids Act of 2010.							

OSWEGO COUNTY BOCES

Bid Award Detail Report

Bid: ICE CREAM 2025

ICE CREAM BID# B25-1201, 7/1/25- 6/30/26

By Vendor/Item

				Unit of			
Item ID	Description	Quantity	Unit Price	Measure	Total Bid	Vendor Item ID	
99-30-003	Ice Cream, Cone, Low Fat Vanilla (yellow and blue	94.0000	16.5600	BX	1556.64	31303	
	twist), 4 oz, 24/box; This product must meet the						
	Requirements of the Healthy, Hunger-Free Kids Act of						
	2010.						
99-30-005	Ice Cream Cone, Low Fat Cookies N' Cream, 4 oz,	121.0000	16.5600	BX	2003.76	31306	
	24/box; This product must meet the Requirements of						
	the Healthy, Hunger-Free Kids Act of 2010.						
99-30-010	Ice Cream Cone, Low Fat Vanilla/Chocolate Twist, 4	101.0000	16.5600	BX	1672.56	31307	
	oz, 24/box; This product must meet the Requirements						
	of the Healthy, Hunger-Free Kids Act of 2010.						
99-40-001	Ice Cream, Sandwich, Cookies & Cream, 3.5 oz,	79.0000	15.1200	BX	1194.48	31355	
	24/box; This product must meet the Requirements of						
	the Healthy, Hunger-Free Kids Act of 2010.						
99-40-007	Bar, Fudgie, Min of 2.oz, 24/box; This product must	29.0000	13.6800	BX	396.72	31152	
	meet the Requirements of the Healthy, Hunger-Free						
	Kids Act of 2010.						
99-40-009	Bar, Sundae Crunch, Chocolate, 2.75 - 3 oz, 24/box;	64.0000	18.0000	BX	1152.00	31150	
	This product must meet the Requirements of the						
	Healthy, Hunger-Free Kids Act of 2010.						
99-40-011	Bar, Sundae Crunch, Strawberry, 2.75 - 3 oz, 24/box;	69.0000	18.0000	BX	1242.00	31151	
	This product must meet the Requirements of the						
	Healthy, Hunger-Free Kids Act of 2010.						
Totals	s for 008193-Hershey Creamery Company	18 Items			\$13,440.72		

01:54:12 pm		Bid Aw Bid: I ICE CREAM BII	COUNTY BOCES vard Detail Report CE CREAM 2025 D# B25-1201, 7/1/25- 6/30/26 vy Vendor/Item		Page 3
Item ID	Description	Quantity	Unit of Unit Price Measure	Total Bid Vendor Item ID	
No Award/All E	Bids Rejected				
99-20-006	Frozen Yogurt, Watermelon, 3.75 oz, 18/box; This product must meet the Requirements of the Healthy, Hunger-Free Kids Act of 2010.		ВХ	Reason: Did not bid as specified	
Totals	for No Award/All Bids Rejected	1 Items			
No Bid					
12-00-009	Reduced Fat Ice Cream Sandwiches, Chocolate, Min of 3.5 oz, 24/box		BX		
12-00-082	Orange Buddie, (vanilla ice cream surrounded by orange sherbet) Min of 2.5 oz, 24/box		BX		
99-10-001	Juices Icy, Sour Blue Raspberry, 3.75 oz, 18/box; This product must meet the Requirements of the Healthy, Hunger-Free Kids Act of 2010.		ВХ		
99-10-002	Juices Icy, Strawberry Mango, 3.75 oz, 18/box; This product must meet the Requirements of the Healthy, Hunger-Free Kids Act of 2010.		BX		
99-10-003	Juices Icy, Sour Apple, 3.75 oz, 18/box; This product must meet the Requirements of the Healthy, Hunger-Free Kids Act of 2010.		BX		
99-20-004	Frozen Yogurt, Unicorn Horn, 3.75 oz,18/box; This product must meet the Requirements of the Healthy, Hunger-Free Kids Act of 2010.		ВХ		
99-20-005	Frozen Yogurt, Birthday Cake, 3.75 oz, 18/box; This product must meet the Requirements of the Healthy, Hunger-Free Kids Act of 2010.		BX		
99-20-007	Frozen Yogurt, No Fat Raspberry, 4 oz , 24/box; This product must meet the Requirements of the Healthy, Hunger-Free Kids Act of 2010.		BX		
99-25-003	Ice Cream Cup, Low Fat Cotton Candy, 3 oz, 48/box; This product must meet the Requirements of the Healthy, Hunger-Free Kids Act of 2010.		BX		
00.25.007			BX		

ΒX

OSWEGO COUNTY BOCES

Page 3

June 20, 2025

OSWEGO COUNTY BOCES

Bid Award Detail Report

Bid: ICE CREAM 2025

ICE CREAM BID# B25-1201, 7/1/25- 6/30/26

By Vendor/Item

				Unit of		Vender Iven ID
Item ID	Description This product must meet the Requirements of the	Quantity	Unit Price	Measure	Total Bid	Vendor Item ID
	Healthy, Hunger-Free Kids Act of 2010.					
99-25-008				вх		
99-20-000	Ice Cream, Cup, Low Fat Strawberry, 3 oz, 48/box;			DA		
	This product must meet the Requirements of the					
	Healthy, Hunger-Free Kids Act of 2010.					
99-25-025	Ice Cream Cup, Zombi, 3 - 4 oz, 48/box; This product			BX		
	must meet the Requirements of the Healthy,					
	Hunger-Free Kids Act of 2010.					
99-40-001P	Ice Cream, Sandwich, Brownie Batter, 3.5 oz, 24/box;			BX		
	This product must meet the Requirements of the					
	Healthy, Hunger-Free Kids Act of 2010.					
99-40-002	Ice Cream, Sandwich, Mint, 4 oz, 24/box; This product			BX		
	must meet the Requirements of the Healthy,					
	Hunger-Free Kids Act of 2010.					
99-40-013	Bar, Sundae Crunch, Salted Caramel, 2.75 - 3 oz,			BX		
	36/box; This product must meet the Requirements of					
	the Healthy, Hunger-Free Kids Act of 2010.					
Totals for No Bid		15 Items				
		- noms				
Bid Totals		34 Items			\$13,440.72	

Selection Criteria

Bid: ICE CREAM 2025 Sort by: Vendor/Item Item Sort: Item ID

Items not awarded are included Printed by Holly Cheeley